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ABSTRACT
The theory is the light velocity’s theory in the special relativity theory in the gravity
field. You can consider that this gravity field treats the Earth gravity field. In this time,

if Earth mass is M and Earth radius is R,, the light’s velocity is £ iEGA;[
a, \ Ne

instead of ¢.Hence, In the Earth, every special relativity’s experiment is more accurate

by using the light speed c(M,R,) = C - iGA? is measured in the Earth.
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I. Introduction

The article treats that the light velocity theory is in the special relativity theory in the gravity field. You
can consider that this gravity field treats the Earth gravity field.

In the general relativity theory, the light speed is
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In the Earth, if the Earth radius is R, and the Earth massis M , the light speed V is
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Hence, the light’s velocity of this theory is —— in the Earth. In this theory, be able to consider that the
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light has the velocity —— . Therefore, in the free time-space, the speed of Electro-magnetic wave ¢ is
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g, is the permittivity constant in the free time-space,
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M, is the permeability constant in the free time-space
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£,(M,R,) isthe permittivity constant in the Earth’s gravity field,
Ho (M, R,) is the permeability constant in the Earth’s gravity field.

In the Earth, every special relativity’s experiment is more accurate by using the light speed

c(M,R,)) = £ - 26 is measured in the Earth.
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I1. Additional chapter
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Therefore, in the Earth, in the special relativity theory, if it uses the light speed — =¢_[1— R o
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In this theory,
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In the example, the light is
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The light’s velocity of the this theory is —
Qg
In this time, the mass 2, is
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In this theory, the particle’s the force F and the kinetic energy KFE , the power P, the momentum

P, the total energy F are
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In this theory, the Maxwell-equation is
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In this time, uses Lorentz gauge.
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The transformation of the Electro-magnetic 4-vector potential (¢, Z) is
! VO VO '
¢:7(¢+QO?AV')7 Ax:)/(Av'+a0?¢)
A =4, ., 4,=4,, y=1/,1-a ‘;02 (19)

Therefore, the transformation of Electro-magnetic field E , B is
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In the quantum theory,
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De Broglie wavelength A is
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II1. Conclusion
If M =0,a, =1, this theory does the special relativity theory in the free time-space.
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